Wood.c.ote Primary Sch.ool
Resources for poarents

Year I: Summer Term

Star Words/ Vocabhulary List

Vocahulary Example

The same as The numhber of __ is the same as
the number of .

s equal to (=) The number ,UJ ___iAs .e,q,,u.;a.l. to the
numher ,o?f .

2 add 3 is equal to 5.

_plus _is 2,q,,u.,al. to _

M.ore [Femwe.r This term is used when referring
to concrete data; an exaoct
amount, for example;

There are more sheep than cows.
There are fewer cows than sheep.

There are more cors than buses.

There are szv:e,,r buses than cars.

less|Greater This term is when referring to
continuwouns data; when we use it
we work to oppropriate deqrees of
accurocyy, for example;

The weight of my cat is less
than the Mzighi of my ,d,,o,g.

The weight of my dog is greater
than the weight of my cat.
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The length of my hair is greater
than the ,LG,g,th of my brothers
hair.

The ,LG,g,th of my brother's hair is
less than the length of my hair.

Number line >
(Res.ource) (7 17 17 1 17 1 11

01 2 3 45 6 7 8 910
A,L,t,o,gz,thzr H.ow many are there ,a.l,.t,a,gz,thz,r?

There are __ apples altogether.

Numher Bond

A way of representing o numher
using o part-part whole model

(see helow).

wo parts that maoke o whole; 3
add 3 is equal to 6.

Part Whole Adiogram
(Res.ource)

5
%
10

N 5N

(parts)

Wwhole)

| cart(s)

5
10<
5

“One of our parts is 5.
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10 is the whole. Our two parts are
5 and 5.

Wh.ole
“Our whole is 10"
10 is the whole. Our two parts are
5 and 5.

Pa.rtition When we explore numhber honds we
partition the numhber into parts,
2.4. 8 can he ,p,ar,ti,ti,onz,d into 5
and 3.

Addition +

Add

Plus The children will hear o range of
rvocobulary for +

Equation The ahstract written

representaltion )

5+5=10

Take ALY

Left

Subtrackt The children will hear a range of
Suhtraction rvocahulary for -

less

Are left How many toys are Left?

There are _ toys are left.

‘Make Ten’ strotequy
(Meth.od)

9+ 7= 10+6-16

%
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B,r,L,d.,g e Ten

When an addition or subhtraction
equation hridges to the next or
prexvious ten.

24+8=__

Children will wse the make ten

strateguy to solrve it.

g T
/" 4hasbeen partitioned into |
28 + 4 - . two parts, 2 and 2. /,»J

/ AN M“'H______h— ___’_/

2 2 )/
e
2 4

| LY |

20 % 30 * 40

Fa.ct F,amii,(?}

A collection ,cra[ related addition
and subtraction J,a,c,t/s made up
of the same numhbhers.

For example;

6+4= 10
/ 6 L+6= 10
10-4= 6

10

AN L 0-6= &

Count on

The meth.od thzrzb,g the children
count on ;,r,om the ,h.j.,g,h.z/s,t
numher to J_‘,L,n,,d. a total ,GE[ iwo

numhbhers.

Digit

The written representation; 6, 7, 8

Place Value

The valuwe of each digit in a
numhber (see helow).
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Tens

There are 5
tens in 54

Tens Ones

Ones

Tens Ones

There are 4

H B ones in 54
H N

Dienes Blocks

Dienes bhlocks are o resocurce

(Resources) which represents the tens and
ones in a two digit number.
) -
- [
-! ’.l‘.\ .' /
Regroup / Regrouping If I have ten ones I can regroup

them in to one ten. i.e.

ﬁ+l.+l;l+l+l+l+l+l+l =10 .or
N is the same as
H EENpg

Increase/ Increasing

When a numher or paottern is

getting higger.

»

“The pattern is increasing hy

Decrease/ Decreasing

When a numhber or pattern is
getting smaller.

“The pattern is decreasing by

»

Repeating pattern

A pottern increases or decreases
in the same incriments;
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2,4,6,8 (+2)
25,20,15,10 (-5)

New Words
Term 3:

Count /L,auniin,g on

C,oun,tj,,n,,g up from o number.

Count /L,auniin,g hack

C,oun,tj,,n,,g down from o number.

Long, longer,

,L,o,n.,g est

Short, shorter,
Ashortest

Tall, taller, tallest

The __ is La.n.gz.r/ shorter than the

The __ is ahout__ cubes/ paper
clips/
hands/ lengths of string long.

Full, nearly full,
half full

Empty, nearly
emplty, hall empty

The same.

This bhottle is )

Heawy, heawier,

heawviest

Light, lighter,
Lightest

The ___ is heawier than the __
The __ is lighter thaon the __.
The _ is the heawviest (lightest).
The hook [feels heawier than the

marhle.
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The marhle is ,Li,g,h,,t,e,,r than the
bhook.
The cow is as heany as the

horse.

Estimate

An estimate is a ,r,ou,g,h.

calculation.

I estimate that the desk will he

longer than a metre stick.

I estimate that the answer will

bridge ten.

H,aiaf the ,LG,g,t,h. ,o;

The red har is half the length of
the purple har.

Douhle the ,Lz,n.,g,th ,UE[

The purple har is douwhle the
length of the red har

Non-stand.ard wnits

,o; me.asure

Measure is expressed in terms of
an ohject such oas; paper clips,

shoe (length), eqqg cups

(capacity).
C,a,p,a,ci,t,(é The amount a container can hold.
Volume A measure of the Apace taken ap

by something.

S,k.,Lp C,ow.,n.,tj,,n.,g

Couwnting in multiples.
For example, skip counting in 2s;

2,4,6,8,10
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Repeated Addition

Used for multiplication.

5+ 5+ 5=15

Grouwps of ...

Used for multiplication.

Three grouwps of five; 3 x 5

A/r,r,a,g

A pictorial representation of
groups of’.

... Q000>

12=3x4 12=4x3
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